B.A /B.Sc. 57 Semester (General) Examination, 2020 (CBCS)
Subject: Economics
Paper: GE-1
(Basic Economics)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are requested to give their answer in their own words as far as practicable.
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1. Answer any six questions. 5x6=30
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With the help of diamond-water paradox, make a distinction between value-in-

P

use and value-in-exchange.

oo ¢ Tt WS ReAIdrer AR TIRT L1 @ R Yoon Ty =1y 41

o

Explain the law of diminishing marginal utility.
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c. Discuss the basic properties of indifference curve.
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d. Determine the nature of average cost curve in the short-run.
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e. Make a distinction between monopoly and perfectly competitive market.
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f. Mention the characteristics of Keynesian Consumption Function.
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g. Explain the concept of circular flow of income.
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h. Distinguish between the concepts of real national income and money national

income.
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2. Answer any three of the following questions: 3x10=30
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a. With the help of indifference map and budget line discuss the consumer’s equilibrium
when the consumer consumes only two goods.
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b. Wwith the help of a diagram explain the concept of total product, average product
and marginal product. Why a rational entrepreneur will operate in the second stage of

production?
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c. Find out the short-run equilibrium of a firm under perfect competition.
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d. Discuss the various methods of measuring national income.
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e. How is equilibrium national income determined in Simple Keynesian Model?
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